N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

L F L F 2 2
s [ s [ S S
g s S 8
[ Q Q
=] X =1
10? 502 k] 8o
[=3
- - =]
- =
10 1
1=
D ¥l | i H i i hl il Al | i | i
oV DQM_VU00T_RO0000000T__Global__CMSSW_X_Y__ _é'\TﬁVODNN
3 \VV0001_R000000001 _Global _CMSSW_X_Y_Z all
24 T T
1+ 1
0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F- L 2 -
[=} [=} [=}
g S s
[ Q Q
=] X =1
=l £ 8o
[=3
=]
=
10
o
‘a’ .
o .
%20 <10 0 10 20 30 O¥[e—=20 10 0 10 20 30 -30 -20 -10 O 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


